YRk 28 LEEE BT EEREBLHEE
H o BF . SERk284 12 H 156 H (k) 18 :00~20 : 00
%o o o U RERSHHESE
HiEE o PR i, R E. KRAE Bh) . g, KR, TR, BT, B R

A, B
KIEE el
#OR . @Yy, Wi ek . FER

Fic AT Bk
IR LR F R T — 5 F8EI—T 17 HEEk
RE 28 AR 2 8 [l E HO< Y s H ek
RK 28 AREE 5 8 [IBREEEE VAN — Mg g
Ta7 4 —7 LEESHE (R)
H2REANR I DosTAE LT T —HiEE

. IR
(1) #HR®E
OIRBALBI IR I —7 1 o 7
BT FXALT A NDT T HN NEGE R L,
F T AT =T LITHIE E 7 T 0 NEOREEIT O, T, THEKRD 2 FHikft
FRBEBIT D,

(2) Mo
DOBEKRZ R X —H £
SE BT FAGERR Z 3R L, B3k )R E R E I DWW TR L TE 7, i 2 B T,
THNOUKE &S XKD RFI2IT<

@FELSL Vi
BGNTEDOELOBNZ] E LT, i PR TEL L9 F L5 W 2D E o
TWDHN, N TOEFIITHE L TR, RKADOI—T 4 V7 THEED TETH D,
T, BEFOBREIET R ATE DS, FIERETEZER R L) L OBRLZ AT, £
DETWHEHTE L0 EEFE LU EBoTN D,
Wi, BECIE AL VIRBRGEE) 21TV 2B 5, Lo Ko F bk
LTV D,

<’fg\ﬁﬂ ° %ﬁ>
I ANEOEBKTT ] L) Dix, B2EIXTHEATH D, WABITBTT DT RV
EIETH DD THREICHEZE NN T X FFOEHIT 5 Z S i3y,
s AV X WERNZ &) ETRNCEB LTI 9 E LTNDH D0,
—H OB 2 RET L TV D,



SHITIE ST DHDD,
SEGNFEOENLRMELTHH 9 & LWV TRV ),

QHEYF— M=
HFEROEY
HAMREDA =2 —DOEDTHD [HALE| ORELREL, EWETEEZLL S
ELTERVVROHNBICESZBW=bDIZY =a—T Vv Uiz, F7o. ilEEOZENFAE
DL YUIEH v EH S TWVARFERIEDN ETHLWDT, FILT7T—<THHEED L1
WCEDbY a7 T APRNERE LE T,
<HEf - B>
s SFEEOFEZEFHIZBNT, HAREORE LAHIT O TWVD, 1251 2T> T
ST EPMETH D,
cHEMETHITON TR, ARBRLIABET = 7 72 & OEIIEENHEE YR
— MBEDOIFITND BRI TN =72 N TR LT b,
- S—EMSHEIHIVRLZB\BETWAIDT, 5ETOFEL2 E LD THMHREE
ZVERR L TIE LV,
@ORAILAZ @ =
< 11/26 TR 1 Do TAZ T T —| LTz, AFEIX A4 —YdeGO! ] O
BT 19 DEENLWH I Z W22 WT,
ZINEIL 413 4 T 7 R EEIE 1077 B, SBINE D 54% 031D TDF T, D T/RA
(2D HRRBRDN AN AR OIEHEIZ D72 N> TnD, 2, 5EILLEDH S 12% B 5T,

2. Wik
(1) =a74+—FAICDNT
- BB R AR DR VR L TE LYY,
s =R F Ty ME, CO2HIBAZE#RLTHE O Eo0F & LTHHT,
<HEfM - B>
- BEIIEST DN
SHAZRTESR, 13:00 05 —FICH T E2MHBD 5,

(2) FRFEHRITHONT
PAEE OFHHFZLEOF BN HAULTZ L TIZL LY,
<’f£\ﬁ5 ° %%>
- BRIV X - T, EaKkNOERRHNETHFELTLITETHD,
ZOGETHERIZ T,
—HFZERRE & LT ETE 5 X O MmET %,

FH8EEELZERS
H BF:20174E1H17H (k) 17 :00~18:30
% TN RERSIHE=R



